Beginner2_Reading Comprehension (www.explorekorean.net)

[1~2] M= ot=0 F=H*E FOHiA =0{E Bi*2 UAFLICL I Sl
M=o et=0f 20| HOPMSLICE =20 Cfg & 12FH 3E7X| 1 oty
7ot giols MTEA ool S8 o §F2= LiggU o2 O &
= Mt FFEX (7). dEiM HE & 8L

=

_L

£ ¢ duch

1. (1) 0l E0iZ 71 XA 2 TS IEHA L.
1) g = AsLHoL

2) EOSHX| Rt

3) &0t W= LC

4) HOotASLT

2. Select the right choice according to the passage.
1) St o™ ALEO[2tM 74Z0| HIAL|CH
2) Mz olo] o MYME W 7|cke[a JAELCH

3) SetHiRet & St ofd2 o € S¢F gLCh

rot

4) 20|12 DESLIF 20 BAIO| BOFHBLIC

3. Reassemble the following sentences in natural order.
7h A2iM M= 0L ZXE A0 SHol| LT
Lh ZXE Edol HUAXT A M2 AOFZS LT,
Ch ot=2| 02 Ot B HEO| HFE =gsL o

ch 220 oA X7t Fotots ZAE SO{H RS LIC

OI-
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4. Reassemble the following sentences in natural order.

“h Mk Xg 7H2a A= dEZS 38 MU

(Lh 82F HEZ2 HIMAXD 22 £ = ASLCH

(Ch HetE A3 BHs S22 X @X2 O MESS olig = Us

L|Ct.

) JE M7 obs AESS e7HYOl o ¥ HE WEES HELCH
[5~6] M Bt Attt XR7F E[= A2 of@SLCH DX A X774 £
= YRO| ASUCLE (7)) 2 HZ AFES9| O|07|§ & SOFALE O Arg
O] ZEO0I3t= AE &#0| O|0F7| ot= AYLICL (L) 2|2 R= =2 O[0F7[E
ot A= FSLUCHL () R2HAM O|OF7|5tH OH50] HolMAM W2 Olof7| & &
= A0M 2 TsE = ASUHCL (8)

5. Ct2 E30| S0717|0 71 AL 2 BES AEHA 2.

(Which part does the following sentence best fit in the passage?)

O[0F7| & & =0{F1 F0r5t= AS &0| O|OF7[otH ol A bt

= SUChH

n () 2 (v) 3) (5) 4 (2)

6. Select the right choice according to the passage.
1)
2)
3)

4)
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